REEPIULARE | T-< YFERE |12 B /

l ROBBWIZEZ &,

iy (- 5)2x2 —3 x (—4)

1
(F2) —5(2a —4b) — (a—b)

32
(A3) ——.24
NE

(4] —RAENXN1.1+0.3x=-0.7 =T,

NP 2y =x —4 -
(F5] AT HFER {Sx Z2y =12 (3 A5

(6] —=RAHFEN 3x2 —9%x — 162 =0 =&,

(F97) HREAD2MENI VI 2 2RFICERITL2LE, FOIWVWZ SY
BOTWZ5NEHEHZBDE*TNZTNab T 5,
ZOY EVab VERICR 2HREY KD L,

(1428) Ehﬂf@:[gg 0@$@}&0@



REEIALKBE | Z-< YEGRE 12

(M8) T I <. HOOHELIZ454,B,C.DHHY . B5BDIEAON
BERTHS5, tBAC=36°THBr =, xCxL~2CBDD
RKEXIETRHL

I
D

36°

(9] ToE2DLIHIZ, FTLR2BB ImdHY . ¢LIZEAH 5,
BATEMBLIZEL, TLHICEEMICHETSAZERLE IV,

X 2

(24&8) EH%ET@@@O%%@&W@



iﬁ%ﬁﬁkf‘nﬂ I %’) < ") F:ﬂ% 12

2H

FEE R

3
Bl

(1 ~f8) B5&, [MYI) 65

(R3]

(2]

(R3]

(4]

(5]

(f36)]

(RF7]

(R38)]

(fF9]

CIRETI]
Tl
Oz

TBTBRYAY



WIRERIZAM | F-<YMHE 12

R (F31~F38) &54, (F9) 64
(R1) 44
(fF2) —2a + 3b
(R3] —/6
(Ri4] x=—6
(RE5] x=2 L, y=-1
(RG6] x=—6,9
(R37] 2
- 9
I
(RG8) 54°
(RE9) / m

BIBTERYAY





